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(i)  ¥8 Jo7-97 g GUel § favifsia 8 — &, @, T, gTG F |

(i) @Y & H Yo7 G&I1 18 18 7% Fglawedid (MCQ) 7T F97 &1 19 TF 20
37T TF T ST Teh-Ueh 37 & 97 & /

(iv) WIS T ¥o7 &7 21 & 25 % 3fd TG-FT0T (VSA) TR & F1-31 376 & F97
g1

(v) @S TH J97 &7 26 & 31 T TG-ITIT (SA) FHR & d7-ad17 371 & J97 8 |

(vi) TV T H I G&I1 32 & 35 T Fe-3709 (LA) IR & Gia-giel 3l & J97 3 |

(vii) TUE F H Y97 T&IT 36 T 38 TF YA HeIIT 3ETRT AR-°R 37h] & I97 & |
Jedh JHTT 37997 7 HTaRe fdeheq g1-at 31l & J97 & oI 7r 3 |

(viii) Y99-97 § GqT [@dHey 737 371 77 8 | TEfd, @vs @ 3 2 e §, @8 T & 2 ¥l
4, G@vs 7 %2 v 4 797 G@US & & 3 oI 7 AR [dHT FH JIEGE 597 T
g1/

(ix) 81 STvTF § B FHIa F715Y | & Ha9q% & 1 = % AT, G =
7 1337 737 8 /

(x)  @ogpeict BT ITT dlid & |

@usg <h

$q @UE 7 Fglanedid 397 (MCQ) &, 578 Je% J97 1 37% &1 & |
1. k& A9 e fow fgama sfieo 2x2 — 10x + k = 0 % 7@ ardfaesh 3R

TR T, 2 -
25 1
5 1
(C) - 5 (d) 5

2. 3¢ g 0(2, 3) aTel Th I i AB T ST g, gl A 3R B Fcurmes A
(4,3) 3R (x,5)8, T xHIAF & :

(a) 3 b)) 2
(c) 5 d 4
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(i1)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections - A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. . 22 . .
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1.

The value of k for which the quadratic equation 2x2 — 10x + k = 0 has real
and equal roots, is :

@ 22

7 (b)

N|—= Ol

5
(C) - E (d)

If AB is a chord of a circle with centre at O(2, 3), where the coordinates of
A and B are (4, 3) and (x, 5) respectively, then the value of x is :

(a) 3 b)) 2
(c) 5 d 4

30/C/2 ~N~~ Page 3 P.T.O.



3. WgYE 3x%+11x—4 % I 3 :

1 1
(a) 5 y — 4 (b) Z y — 3
1 1
(C) g s 4 (d) g ) 4
4. A S o Tsh YN H HH-T-HH Teh AIGh! o 814 hl ATehdl &
1 2
(a) § (b) g
3 1
(C) Z (d) Z
5. Fgu@nHxsmaglsa:
(a) 73HTS (b)  53HTS
(c) 43P @ 10 HE
6. 2c0s29(1+tan29)6|1'|6|'{%:
(a) 0 (b) 1
(c) 2 d 3

7. ARG ¥ ¥, THIHO IH — 6x — 2y = 21 3R 2x — 3y + 7 = 0, q @37 &I
frefyg =t 8, I -

(a) T gEL I 3leh T forrg W hredl &
(b) T GE I I q fargaTl W wredt &
(c) HUN &
(d) TR §

8. UG U WERhA I Ui 11 km I g & F H 5000 Feeht T 2, dl
afeq 1 =IH B

(a) 65cm (b) 35cm
(c) 70 cm (d) 50cm
30/C/2 ~N~~ Page 4



3. The zeroes of the polynomial 3x2 + 11x — 4 are :

1 1
(a) E,—4 (b) Z,—3
1 1

4, In a family of two children, the probability of having at least one girl is :

(a) (b)

(c) (d)

Blw N
G )

5. The distance of the point (4, 7) from the x-axis is :
(a) 7 units (b) 5 units
(c) 4 units (d) 10 units

6. 2 cos? 6 (1 + tan2 0) is equal to :
(@ 0 (b) 1
() 2 d 3

7. Graphically, the pair of equations —6x — 2y =21 and 2x — 3y + 7 =0
represents two lines which are :
(a) intersecting exactly at one point
(b)  intersecting exactly at two points
(¢)  coincident
(d) parallel

8. If a bicycle wheel makes 5000 revolutions in moving 11 km, then the

diameter of the wheel is :
(a) 65cm (b) 35cm
(c) 70 cm (d 50cm

30/C/2 ~N~~ Page 5 P.T.O.



9. TR 7cme T ga W, fog PN 90 & %5 € 25 cm 6l g0 W f&@ 2, €
St T3 TqRI-X@T shi AR B

(a) 22cm (b) 24cm
(c) 25 cm (d 28cm

10. A H, g O I g9 W PA 3R PB d TRI@N 38 YK 7 &
/APB=50°2% | 99 ~ OAB I |19 2 :

A
P
B
(@)  25° (b)  50°
()  75° (d)  100°

11. BT 7 cm % %5 O 911 I &1 Th 9gAis OACB g J&l ACB g i =™
%ISHH@W@W&&T%

(a) 15cm (b) 50cm
(c) 25 cm (d) 44 cm

12. I 2x, x+ 10, 3x+ 2 Th AP. o dF AN U &, ol x h1 A B :

(a) 4 (b) 5
(c) 6 d 8

13. < YTl ! Ush SR hehd T, ANTHA 10 TTod B4 <hl ITHRIehdT 2 :

1 1
(a) E (b) %
1 1

30/C/2 ~~~~ Page 6



10.

11.

12.

13.

The length of the tangent drawn from a point P, whose distance from the

centre of a circle is 25 cm, and the radius of the circle is 7 cm, is :

(a) 22cm (b) 24cm
(c) 25 cm (d) 28 cm

In the figure, PA and PB are two tangents to the circle with centre O
such that £ APB = 50°. Then, the measure of £ OAB is :

A
P<
B
(a)  25° (b)  50°
(c) 75° (d)  100°

OACB is a quadrant of a circle with centre O and radius 7 cm where ACB

is the arc. Then the perimeter of the quadrant is :
(a) 15cm (b) 50cm
(¢ 25cm (d 44cm

If 2x, x + 10, 3x + 2 are three consecutive terms of an A.P., then the

value of x 1s :
(a) 4 (b) 5
(c) 6 (d) 8

In a single throw of two dice, the probability of getting a sum of 10 is :

1 1
(a) E (b) %
1 1

30/C/2 ~N~~ Page 7 P.T.O.
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14. T HAR 1 HAE 20 m 2 | 99 g 1 3F@T 60° 7, a1 Y W & H9R hi

SHT hl AT 2 :
(a) % m (b) ? m
(¢ 20¥3 m (d 20m

15. & TE 3Mepfd #, DE | BC 3 @t @19 em # 20 & | AR o oieeTg 2 -

(a) 2cm (b) 2:25cm
(c) 2:5 cm (d) 2:75 cm

16. TE&ARN 1,2, 3H ¥ Ush 9@ A Il g AR 39 x § &g fohan Jmar g iR
TEATST 1,4, 9T ¥ T &A1 g At g N oy @ FEua e S g | a9
P(xy<9)36’:

(a)

(b)

O|Ut O
W3 ©o|w

(c) (d)

17. T 10 m &6 SHEAeR @Y 6 i W 98 arell SR H TF1E 5 m g | I
g H, T AR A fit | US4 arelt IR h dEE 125 m g | HEAR
TS B

(a) 20 m (b) 22 m

(c) 26m d 24m

30/C/2 ~~~~ Page 8



14. The height of a tower is 20 m. The length of its shadow made on the level

ground when the Sun’s altitude is 60°, is :

(a) %m (b) % m
(¢ 203 m (d 20m

15. In the given figure, DE ||[BC and all measurements are given in
centimetres. The length of AE is :

(a) 2cm (b) 2:25cm

(c) 2:5 cm (d) 2:75 cm

16. A number is chosen from the numbers 1, 2, 3 and denoted as x, and a
number is chosen from the numbers 1, 4, 9 and denoted as y. Then
Pxy <9)is:

(a) (b)

(c) (d)

|t O+
©W|la w©w|w

17. A vertical pole 10 m long casts a shadow of length 5 m on the ground. At
the same time, a tower casts a shadow of length 12:5 m on the ground.
The height of the tower is :

(a) 20 m (b) 22 m
(c) 25 m (d) 24 m

30/C/2 ~N~~ Page 9 P.T.O.
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18.

IMIHTIh HEY T ITAN i W Th s, [Sehl HEA 7-2 IR H1edeh 7-1 B,
1 SgTh BT :

(a) 62 (b) 63

(c) 65 @ 69

I G&IT 19 3K 20 3YFYT U d@ STGIRT I & SR I4F I HT 1 P
8 | g ®97 137 71T & 57 v @1 S7f%meT (A) T GR Bl T (R) GRT Sifaba [T 771
& 1 57 I791 & &gl I 714 12T T HIEl (a), (), (c) 3R (d) § & A< G977 |

19.

20.

(a) 3HRAT (A) 3R T (R) AT T&I & 3R Tob (R), AR (A) Hl &l
ST RT3 |

(b) AR (A) 3R Th (R) HI H&l B, T o (R), AR (A) i T&l
TS g1 il & |

(c)  3Afehed (A) Tl B, W=g %k (R) TeTd & |

(d) 3T (A) Tad 7, Tg doh (R) 91 & |

S7YFHIT (A) :  Teh 5987 UTHT Teh SR Whehl ST & | Tesh THST &I ITSd 814
a‘ﬁmﬁw%%l

7% (R) : T Uhd €A, AWST G&A1 Bl @ AC T T&AT o had al
TUEYE B |

S7fFHeT (A) : & Raaret, @i 3R AW U R 89 Wad 3 | |9 &
A9 Sfq H TTReRdT 0-79 § 3T STIEM o B Siiad skl ITRekdl

0-21% |
7% (R) : Tl Yk TR T TTTrehdTeT T ANThA 18T 8 |

Qs @

$F GUE T 37fd TY-FHIT (VSA) FHR & J97 &8, 577 F9% &2 37% & |

21.

(%) AT A(-2, -1), B(a, 0), C(4, b) T« D(1, 2) Tk TR Iyt ABCD &
3 8, df a 3 b AF 14 shifoE |

YT

(@) foag A(-1, 0), B3, 1) @1 C(2, 2) 3¢ 56° § 91 W, Th FATR Iq4S
ABCD % 19 3fiY § | 35 <19 3fi¥ D & fcemes sma Shifs |

30/C/2 ~~~~ Page 10



18. Using empirical relationship, the mode of a distribution whose mean is
7-2 and the median 7-1, is :

(a) 62 (b) 63
(c) 65 (d 69

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from

the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
19. Assertion (A) : A fair die is thrown once. The probability of getting a

. .1
prime number is ok

Reason (R): A natural number is a prime number if it has only two
factors.

20. Assertion (A) : Two players, Sania and Ashnam play a tennis match. The
probability of Sania winning the match is 0-79 and that of
Ashnam winning the match is 0-21.

Reason (R): The sum of probabilities of two complementary events is 1.

SECTION B
This section comprises very short answer (VSA) type questions of 2 marks each.
21. (a) If A2, —1), B(a, 0), C(4, b) and D(1, 2) are the vertices of a

parallelogram ABCD, then find the values of a and b.

OR

(b)  The three vertices of a parallelogram ABCD, taken in order, are
A(-1, 0), B(3, 1) and C(2, 2). Find the coordinates of the fourth
vertex D.

30/C/2 ~N~~ Page 11 P.T.O.



%EI
G
. A0 _BO _1
22. ‘qﬁﬂi:ﬂ'@ﬁlﬁ,E=O—D=§H$TAB=5cm%IDCﬁWI§W
HITTT |

Y

Y

D C

23. (%) 3AfC a8 fow gemm 2 F6 V2 wh iy e g, qi fag g f6
(5-2+/2) T U T&AT 2 |
JroraT

(@) = hifT foh @ forelt ITeha §&AT n & folw, §&AT 67, 37 0 W FAT
&l Thdl & |

24. T I fog P W T By ABC 1 4STT BC ! @ @ 2 3R shAw: famgati
Q 3 R 91gTE 7§ YS1ai AB 3R AC &1 § @I 7 |

%W%AQ:% (A ABC =1 9f@m) |

25. @ it T forgati (- 3, 10) 3R (6, — 8) =l Wied a1 WW-WUE i fog
(- 1, k) Topg o791 o faurfora et g | o1:, k 1 5H F1d i |

30/C/2 ~N~~ Page 12



22. In the given figure, A9 = BO = 1 and AB = 5 cm. Find the length of
oC OD 2
DC.
A - B
O
D ” ¢

23. (a) If V2 is given as an irrational number, then prove that (5 — 24/2)

is an irrational number.
OR
(b)  Check whether 6" can end with the digit 0 for any natural

number n.

24, A circle is touching the side BC of a A ABC at the point P and touching
AB and AC produced at points Q and R respectively.

Prove that AQ = % (Perimeter of A ABC).

25. Find the ratio in which the point (- 1, k) divides the line segment joining
the points (— 3, 10) and (6, — 8). Hence, find the value of k.

30/C/2 ~N~~ Page 13 P.T.O.
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Q|us 1

59 @V § TY-F70F (SA) TR & T &, 1574 IJ4% & 3 3% & |

26.

27.

28.

29.

30.

31.

HTURYA FATATIdeRaT oY o1 e faflay o 38 fiag i |

(®) 50 IR 500 % &= % T qUiehi, S 7 § ST &, B AMHRA A
EAEIN

YT

(@) 10 3R 300 % o= U ferat T & S 4 | AT HA W AT 3t & 2
T GEITAT hT AMTHA i J1d il |

T I o &FABAl T AMHA 468 m2 B | Il Ik AT T FaT 24 m &, @
ST Gl Sl SISl hl RSl STd it |
A U % T Tk H1Y Tk B hl 3% U H W Thd 3 | S8 I el 9

AT W B bl WA U, HH IH dTd 90 § 5 82 hH THT odT & | TIeh A
T ST H BN bl WA & HY JTd i |

(®) 6 cm s It T g4 & AY AR G HSAQUST A &% @ I,
Ife & =19 g Shg W IdRd I 60° 7 |
(n = 3-14 1 SN i)
ruaT
(@) A 10 cm B I T I HT g QT heg T 60° T HI0 AN

Ll g, Al {10 TG JAEUS I FABA [ HINT |
(n =314 3R /3 =1-73 1 YA i)

Th T ABCH, L A=x°,/B=@Bx—-2°aN £ C=y°3 | @Y &,
ZC-2/B=9°% | Brga & o1 1o 5ma Ao |

30/C/2 ~N~~ Page 14
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SECTION C

This section comprises of short answer (SA) type questions of 3 marks each.
26. State and prove Basic Proportionality theorem.

27. (a) Find the sum of all integers between 50 and 500, which are
divisible by 7.

OR

(b) How many numbers lie between 10 and 300, which when divided

by 4 leave a remainder 3 ? Also, find their sum.

28. Sum of the areas of two squares is 468 m2. If the difference of their

perimeters is 24 m, find the lengths of the sides of the two squares.

29. Two water taps together can fill a tank in 3% hours. The tap of larger

diameter takes 5 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can fill the tank separately.

30. (a) Find the area of the minor and the major sectors of a circle with
radius 6 cm, if the angle subtended by the minor arc at the centre

is 60°. (Use n = 3-14)
OR

(b)  If achord of a circle of radius 10 cm subtends an angle of 60° at the

centre of the circle, find the area of the corresponding minor

segment of the circle. (Use n = 3-14 and +/3 = 1-73)

3l. InaAABC,£ZA=x°,Z/B=Bx-2)°and £ C =y°. Also, £ C -« B =9°.
Determine the three angles of the triangle.

30/C/2 ~~~~ Page 15 P.T.O.
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Qs ¥

59 @S § -390 (LA) PR & 97 8, 579 Id% & 5 3% & |

32. UH ThA & qHdl Hel HI 50 BETST hl HATS (cm H) 1 FAq0T foham M7 3R
gefyd fefaRad stfehs JTed 8T :

418 (cm ) ST hl &
120 - 130 2
130 — 140 8
140 — 150 12
150 — 160 20
160 - 170 8
o 50
I9h ATehg] T HTEA 3TN Fgeish G BT |

33. (%) TH A9 3 mhl HATs dh Toh QG-I S o TR I & HR B
% FW 13-5 m hI ATTHhaH Ha13 o ¥ FE-IAF TP &9 AT @ | IQ
YR 1 BISAT 14 m 7, T T 2 Ui o HieX 1 & F q o6 Had Wi
1 U2 HH H AT T BT |

YT

(@) TUH 39 The! I RATHT Toh TE-GAI IS o ATHR h1 7 S 36 B
% Teh Tl T IALAWNT 7 | AfG Tl 1 BISAT 4-2 om T RawiH
FI A S8 102 cm B, A THe! o Il HT A A VT | 39
ety 1 Fa1 T aawa ot 1 Hif |

34. 60m 32 a7 & R T T Fheet I & G IR dad &+ FITHT HI0T HUT:
45° 3R 60° 7 | TR Sl S8 F1d HINT | (V3 = 1-73 T T Hif)

30/C/2 ~~~~ Page 16
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This section comprises long answer (LA) type questions of 5 marks each.

SECTION D

32. A survey regarding the heights (in cm) of 50 girls of class X of a school

was conducted and the following data was obtained :

Height (in cm) Number of girls
120 - 130 2
130 — 140 8
140 - 150 12
150 — 160 20
160 - 170 8
Total 50

Find the mean and mode of the above data.

33. (a) A tent is in the shape of a right circular cylinder up to a height of

3 m and then a right circular cone, with a maximum height of

13-5 m above the ground. Calculate the cost of painting the inner

side of the tent at the rate of ¥ 2 per square metre, if the radius of

the base is 14 m.

OR

(b) A solid wooden toy is in the shape of a right circular cone mounted

on a hemisphere of same radius. If the radius of the hemisphere is
4-2 cm and the total height of the toy is 10-2 ¢m, find the volume of

the wooden toy. Also, find the total surface area of the toy.

34. From the top of a 60 m high building, the angles of depression of the top

and bottom of a cable tower are observed to be 45° and 60° respectively.

Find the height of the tower. (Use ¥3 = 1-73)

30/C/2 ~~~

Page 17
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£
35. (%) fag il fs:

1+sin® 1-sinH

- — - =4 tan 0 sec 0
1-sin® 1+sin0

YT

(@) ¥ Fa i
tanZ 60° + 4 sin2 45° + 3 sec? 60° + 5 cosZ 90°
cosec 30° + sec 60° — cot2 30°

Qs &

59 GUE H 3 YT 37eTFT STEIRT I97 & 157780 Ic9% & 4 3% & |

TR0 FEFAT - 1

36. 14 BEU HI FCEIAA o AT S o €9 H AR AT 2 3R T % &3 o0
8 fa ol 7d € | wRa # ft 3 A 9 39 T B T IE fR iR T
el (eh JEAehard i FHiad 9@l H# $8 fawl i gdeh gF i

3fder™ = 96, o = 240, TG = 336

3 J&dehi i HU-H-HA U H 39 YR FARAT AT g Th TP &L H had

T fowr T qEdeh & TN Ycdeh & W YAkl hl T AU B |

ITYTh AT o YR W, F=fcIigd T o W T

(i) P < ¥ fopat foparel safedr g 2

(i)  TITG 1 Tt qEdehl i EREYd H b forw fohad @t &1 3w foham
STl 8 ?

(i) (%) @t geaeni I AT i o AT 3T fohw I ATt @T i
Fa g fgiia Hife |
reran

30/C/2 ~~~~ Page 18



35. (a) Prove that :

1+sin® 1-sinH

- - - =4 tan 0 sec 0
1-sin®6 1+sin6

OR
(b) Evaluate :

tanZ 60° + 4 sin? 45° + 3 secZ 60° + 5 cos2 90°
cosec 30° + sec 60° — cot? 30°

SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. February 14 is celebrated as International Book Giving Day and many
countries in the world celebrate this day. Some people in India also
started celebrating this day and donated the following number of books of

various subjects to a public library :
History = 96, Science = 240, Mathematics = 336.

These books have to be arranged in minimum number of stacks such that
each stack contains books of only one subject and the number of books on

each stack is the same.

Based on the above information, answer the following questions :

) How many books are arranged in each stack ? 1
(i1)) How many stacks are used to arrange all the Mathematics books ? 1

(1i1) (a) Determine the total number of stacks that will be used for
arranging all the books. 2
OR

30/C/2 ~N~~ Page 19 P.T.O.



(i) (@) 3¢ sfogm, fogm oK wfta i gcie g&as i G SHAW:
1-8 cm, 2:2 cm 3T 25 cm%, ?ﬁSﬁl’&'l’H, ﬁﬁl’F{ R Tiford
J&dehi o Jcdeh &L shl S8 AT T | 2

ThIOT AETAT - 2

37. W H Wdd FHT FHRE A T B hl @1 AR 19 A § o1 foh a8 =1 7 |
3Iueh! AT 3 IW T o6 =g weymfRei gro wreg @1 & & e 9w T s
g | =1 g, 38 3§ foh 9 a1 B I ARG Th O = 7 |
B oI T FTEAT i AT H f@mn T R |

50

(=17,0) (7,0
-10\-5 0 b 10

ST A1 o MR W, F=fafaa g o I e

() feu TC T gRT T T e % foae feha Ik # 2 1
(i) g9 % I fafEy | 1
(i) (F) FACTGIExZ+(@+1)x+b YIF 23 -37, A a3 bh
HH FTd HIY | 2
HAAAT

30/C/2 ~~~ Page 20



(i) (b) If the thickness of each book of History, Science and
Mathematics is 1-8 cm, 22 cm and 2-5 cm respectively, then
find the height of each stack of History, Science and
Mathematics books. 2

Case Study - 2

37. While playing in a garden, Samaira saw a honeycomb and asked her
mother what is that. Her mother replied that it’s a honeycomb made by
honey bees to store honey. Also, she told her that the shape of the
honeycomb formed is a mathematical structure. The mathematical

representation of the honeycomb is shown in the graph.

50

(=7,0) (7,0)
-10\-5 0 5 10

Based on the above information, answer the following questions :

) How many zeroes are there for the polynomial represented by the

graph given ? 1
(i1)  Write the zeroes of the polynomial. 1

(iii) (a)  If the zeroes of a polynomial x2 + (a + 1) x + b are 2 and — 3,

then determine the values of a and b. 2
OR
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(i) (@) C T§IG x2 + px + 45 % AR b IF= H1 a0 144 7, dl p H
HE F1d hIT |

Th{0T AEFAT - 3

38. T UTh H IR W Teh JAThR HedR o 91 3R A, B, C 3R D &1 feufa # 39
TR @S B1d 8 T @H AB, BC, CD 3T DA # &M aTell shuel AT P, Q, R
3T S W AR HeaR i Tal & widn b o= o fo@mn o 7 |

I AT b MR |, Fe 3w & 3w A

(i)  3AfE IR HeaR H g O 3, A £ OSA I HIY F1d HINT |

(ii) 9 AB = AD @I, @ ABCD 3Tehfd sl 91 fafau |

(iii) (%) A DR=7cm 3 AD =11 cm 8, A AP &6l a8 F1a I |

AT

(iii) (@) 3fE IUTHR HeaR & g O B 3 £ QCR = 60° §, d £ QOR
1 AT 1T I |
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(iii) (b)  If the square of difference of the zeroes of the polynomial
x2 + px + 45 is 144, then find the value of p. 2

Case Study -3

38. In a park, four poles are standing at positions A, B, C and D around the
circular fountain such that the cloth joining the poles AB, BC, CD and
DA touches the circular fountain at P, Q, R and S respectively as shown

in the figure.

Based on the above information, answer the following questions :

) If O is the centre of the circular fountain, then £ OSA = ... 1

(ii) If AB = AD, then write the name of the figure ABCD. 1

(1i1) (a) If DR =7 cm and AD = 11 cm, then find the length of AP. 2
OR

(i) (b)  If O is the centre of the circular fountain with £ QCR = 60°,
then find the measure of £ QOR. 2
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Supplementary Examination, July- 2023
MATHEMATICS PAPER CODE 30/C/2

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is requested
that before starting evaluation, you must read and understand the spot evaluation guidelines carefully.
2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them. In class-X, while evaluating two
competency-based questions, please try to understand given answer and even if reply is not
from marking scheme but correct competency is enumerated by the candidate, due marks
should be awarded.

4 The Marking scheme carries only suggested value points for the answers.

These are in the nature of Guidelines only and do not constitute the complete answer. The students
can have their own expression and if the expression is correct, the due marks should be awarded
accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after deliberation and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

6 Evaluators will mark (v ) wherever answer is correct. For wrong answer CROSS X’ be marked.

Evaluators will not put right (v') while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.
9 In Q1-020, if a candidate attempts the guestion more than once (without canceling the previous

attempt), marks shall be awarded for the first attempt only and the other answer scored out
with a note “Extra Question”.

10 In 021-038, if a student has attempted an extra question, answer of the question deserving
more marks should be retained and the other answer scored out with a note “Extra Question”.

1
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11 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

12 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

13 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines). This is in view of the reduced syllabus and number of
questions in question paper.

14 Ensure that you do not make the following common types of errors committed by the Examiner in
the past:-

e Leaving answer or part thereof unassessed in an answer book.

e  Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e  Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e  Marks in words and figures not tallying/not same.

e \Wrong transfer of marks from the answer book to online award list.

e  Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

15 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (0) Marks.

16 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

17 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

18 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

19 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.
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MARKING SCHEME
MATHEMATICS (Subject Code-041)
(PAPER CODE: 30/C/2)

Q. No. EXPECTED OUTCOMES/VALUE POINTS Marks
SECTION A
Questions no. 1 to 18 are multiple choice questions (MCQs) and
guestions number 19 and 20 are Assertion-Reason based questions of 1
mark each
1 The value of k for which the quadratic equation 2x* = 10x + k = 0 has real
and equal roots, is :
o
(a) = (b) :
2 5
© =2 (d) 2
2 2
Sol. 25 1
(@2
2. If AB is a chord of a circle with centre at O(2, 3), where the coordinates of
A and B are (4, 3) and (x, 5) respectively, then the value of x is:
(a) 3 (hy 2
(c) 5 (d) 4
Sol. | (b)2 1
3. The zeroes of the polynomial 3x2 + 11x — 4 are :
(a) l,--l (b) -I-,—-3
2 1
(e) }-.—4 (cd) -,4
3
Sol. | (c) é 4 1
4. In a family of two children, the probability of having at least one girl is :
9
(a) l (h) =
2 5
() g (d) o
1 1
Sol. | (¢)2 1
4
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The distance of the point (4, 7) from the x-axis is :

(aa) 7 units (bh) 5 units
{c) 4 units (d) 10 units
Sol. | (a) 7 units
6. 2 cosZ 0 (1 + tan? 0) is equal to :
(a) 0 (h) 1
(¢) 2 (d) 3
Sol. (c)2
£ Graphically, the pair of equations =06x =2y = 21 and 2x =3y + 7 =0
represents two lines which are :
(a)  intersecting exactly at one point
(b)  intersecting exactly at two points
(c) coincident
(d)  parallel
Sol. | (a) intersecting exactly at one point
8. 5 ; & ; ; ;
If a bicyele wheel makes 5000 revolutions in moving 11 km, then the
diameter of the wheel is ;
(a) 65 em (h) 35 em
(e) 70 em (d) 50 em
Sol. | (c) 70 cm
9. The length of the tangent drawn from a point P, whose distance from the
centre of a eirele 1s 25 em, and the radius of the cirele is 7 em, is :
(a) 22 em (h) 24 em
() 25 em (d) 28 em
Sol. | (b)24cm
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10.

In the figure, PA and PB are two tangents to the circle with centre O

such that £ APB = 50°. Then, the measure of 2 OAB is :

(a) (h) 50°
(¢) 75° (d) 100°
Sol. | (a) 25°
11. OACB is a quadrant of a cirele with centre O and radius 7 em where ACB
is the are, Then the perimeter of the quadrant is :
(a) 15 em (b) 50 em
(c) 25 em (d) 44 em
Sol. |(c)25cm
12. If 2x, x+ 10, 3x + 2 are three consecutive terms of an A.P., then the
value of x is :
(a) 4 (by 5
(e 6 (d) 8
Sol. [(c)6
13. In a single throw of two dice, the probability of getting a sum of 10 is :
- I yolg :
(a) : (h) -
a —— 5] e
12 36
1
(e) £ (d) —
6 1
Sol. 1
@) 5
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14. The height of a tower is 20 m. The length of its shadow made on the level
ground when the Sun’s altitude is 60°, is :
(a) 20 m (b) 20 m
g ax Lo
J3 3
(e) 2043 m (d) 20 m
Sol. 20
@7m
15. In the given figure, DE |BC and all measurements are given in
centimetres. The length of AE is :
B C
(a) 2cm (h) 2-25 em
(e) 2-5 em () 2:75 em
Sol. | (b)2.25cm
16. A number is chosen from the numbers 1, 2, 3 and denoted as x, and a
number is chosen from the numbers 1, 4, 9 and denoted as y. Then
P(xy <9)is:
(a) l (h) i
9 9
(e) 5 (d) L
' 9 9
Sol. 5
CE
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17.

A vertical pole 10 m long casts a shadow of length 5 m on the ground. At
the same time, a tower casts a shadow of length 12:5 m on the ground.
The height of the tower is :

(a) 20m (th) 22m
(e) 25 m (d)  24m
Sol. |(c)25m
18. Using empirical relationship, the mode of a distribution whose mean is
72 and the median 7-1, is :
(a) 6-2 (h) 63
(e} 65 (d) 69
Sol. | (d)6.9
Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (a), (b), (c) and (d) as given below.
(a)  Both Assertion (A} and Reason (R) are true and Reason (R) is the
correct explanation of the Asszertion (A),
(b Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(e) Assertion (A) ig true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
19.

Assertion (A) : A fair die iz thrown once. The probability of getting a

& e A
prime number is >

Reason (R} : A natural number is a prime number if it has only two
factors.

Sol. | (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

20.

Assertion (A) : Two players, Sania and Ashnam play a tennis mateh. The
probability of Sania winning the match is 0-79 and that of
Ashnam winning the mateh is 0-21.

Reason (R):  The sum of probabilities of two complementary events is 1.

Sol. | (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).
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SECTION B
This section comprises very short answer (VSA) type questions of 2

marks each.
21 (@). If Al=2, =1), Bla, 0), C(4, b) and X1, 2) are the vertices of a
parallelogram ABCD, then find the values of a and b.
Sol. | Coordinates of the mid-point of AC = Coordinates of the mid-point of BD
(—2+4 —1+b) _ (ﬂ E) 1
2’ 2 /) \2"’2
-2+4 _ a+1 _
e T =a=1 L7
and_l;bzozLz =b=3 Y
OR
21 (b). The three vertices of a parallelogram ABCD, taken in order, are
Al=1, 0), B(3, 1) and C(2, 2). Find the coordinates of the fourth
vertex D).
Sol. | Let the coordinates of fourth vertex D be (x, y)
Coordinates of the mid-point of AC = Coordinates of the mid-point of BD
—1+2 042\ _ (3+x 1+y
( 2 T) - ( 2’ 2 ) !
23 x=2
2 2 T Y
0+2 _ 1+y _
and - = =Yy= 1 1
22. AC
In the given figure, (\—)((l = %(f;_ = {)— and AB = 5 em. Find the length of
DC.
A _ B
>K<
D ’ C
Sol. | In AAOB and ACOD
A9 _BO (Given)
oc~ oD
£2A0OB =£COD (V.0.A)
1

~ AAOB ~ ACOD (SAS rule)
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AO AB
=2 (CPST)

oc
1_5
2 CD
=CD =10cm 1
23 (a). o= . . . —
If V2 is given as an irrational number, then prove that (5 =2v2)
ig an irrational number.
Sol. | Let us assume that 5 — 2+/2 be a rational number.
n5-22= S , Where p and q are integers and q # 0. 1
q
RHS is a rational number. So, LHS is also a rational number which contradict
the given fact that v/2 is an irrational number.
So, our assumption is wrong.
Hence, 5 — 2v/2 is an irrational number. Vs
OR
23 (b). Check whether 6" can end with the digit 0 for any natural
number n.
Sol. | If the number 6™ ends with the digit 0, then it should be divisible by 2 and 5.
But prime factorisation of 6™ is (2 x 3)". 1
=~ Prime factorisation of 6™ does not contain prime number 5.
Hence, 6" can’t end with the digit 0. 1
24.

A cirele is touching the side BC of a A ABC at the point P and touching
AB and AC produced at points Q and R respectively.

Prove that AQ = l) (Perimeter of A ABC).

A
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Sol. | Perimeter of A ABC=AB +BC + CA
= AB +BP + CP + CA 72
=AB+BQ+CR+CA [BP =BQ ; CP =CR] Y2
=AQ + AR
=AQ+AQ [AQ=AR] %
=2 AQ
1 . Ya
~AQ = 3 (Perimeter of A ABC)

25. Find the ratio in which the point (= 1, k) divides the line segment joining
the points (= 3, 10) and (6, — 8). Hence, find the value of k.

Sol. | Let C (-1, k) be divides the line segment joining the points A (- 3, 10)
and B (6, — 8) in the ratiom : 1.

Using section formula

_ —3+6m
T m+1

_ 2
= m= ; 1
Hence, required ratiois 2 : 7
K = 10X7-8x2 _ 6 1
247
SECTIONC
This section comprises of Short Answer (SA) type questions of 3 marks
each.
26. . . :

State and prove Basie Proportionality theorem.

Sol. | Correct statement of Basic Proportionality Y5
Correct figure, given, to prove and construction 1
Correct proof 1%

27 (a). : B} ; i 2 o ]
Find the sum of all integers between 50 and 500, which are
divisible by 7.

Sol. | 56,63, ...,497 1
Herea=56and d=7
Let an =497
= 56+ (n-1) x 7 =497 Yo
= n =64 Y2
Se = 2 x (56 + 497) = 17696 L

OR
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27 ().

How many numbers lie between 10 and 300, which when divided

by 4 leave a remainder 3 ? Also, find their sum.

‘x” hours and the time taken by the tap of larger diameter to fill the tank
separately be (x —5) hours.

Sol. |11,15,...,299 1
Herea=11and d=4
Let an =299
= 11+(n—1) x 4=299 &
=n=73 2
Sr3 =21 x (11 +299) = 11315 1

28. Sum of the areas of two squares is 468 m<. If the difference of their
perimeters is 24 m, find the lengths of the sides of the two squares.

Sol. | Let the lengths of the sides of the two squares be ‘x’ mand ‘y’ ms.t. x>y
ATQ.
x> +y?>=468 - @ 1
4x — 4y =24
=x-y=6 = - @) Ya
From (1) and (2), we get
y2+6y—216=0
=y=12andy=-18 1
But side of a square is always positive,

So,y=12
and x = 18 !
Hence, the lengths of the sides of two squares are 12 m and 18 m.

29. Two water taps together can fill a tank in 3?;— hours. The tap of larger
diameter takes 5 hours less than the smaller one to fill the tank
separately. Find the time in which each tap can fill the tank separately.

Sol. | Let the time taken by the tap of smaller diameter to fill the tank separately be

AT.Q.
1,1 -3 1
X X—5 10 1
= 3x>-35x+50=0
= (X-10)(3x-5)=0
= Xx=10o0rx= g
Butx = g is not possible, so x = 10 &
11
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~ time taken by the tap of smaller diameter to fill the tank separately is
10 hours

and time taken by the tap of larger diameter to fill the tank separately is 2
10 - 5 =5 hours
30(a). | Find the area of the minor and the major sectors of a circle with
radius 6 em, if the angle subtended by the minor arc at the centre
ig 60°. (Use n = 3:14)
2 o
Sol- | Area of minor sector = w
360 1
=18.84 1
Hence, area of minor segment is 18.84 cm?
Area of major sector = Area of circle — Area of minor sector
=3.14 x (6)* - 18.84 1
=942 Yo
Hence, area of major segment is 94.2 cm?
OR
30 (b). If a chord of a cirele of radius 10 em subtends an angle of 60° at the
centre of the circle, find the area of the corresponding minor
segment of the circle. (Use n = 3-14 and V3 =173)
2 o
Sol- | Area of minor segment = % - % X (10)2 X ? 2
—314 178 Yo
6 ) 4
=9—0r9.08 &
Hence, area of minor segment is 9.08 cm?.
3lL. InaAABC, ZA=x°ZB=(3x=-2Pand £C =y° Also, £C—- 4B = 9°.
Determine the three angles of the triangle.
Sol. | zA+ 4B+ +£C=180°
~X+(3x—-2)+y=180
=4x+y=182 - D 1
Given, £C—«2B =9°
~y—-B3x-2)=9
=y-3x=7 = - @) Yo
Solving (1) and (2), we get
x=25andy =82 1
Yo

Hence, £A =25°, 2B =(3 x 25-2)°=73°and 2C =82°
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SECTION D

This section comprises of Long Answer (LA) type questions of 5 marks

each.
32. A survey regarding the heights (in em) of 50 girls of class X of a school
was conducted and the following data was obtained :
Height (in em) Number of girls
120 - 130 2
130 — 140 8
140 = 150 12
150 = 160 20
160 - 170 8
Total 50
Find the mean and mode of the above data.
Sol.

Height (in cm)| No. of girls Xi Ui fiui
120 - 130 2 125 —2 -4
130 — 140 8 135 -1 -8
140 — 150 12 145=a 0 0
150 — 160 20 155 1 20
160 —170 8 165 2 16
Total 50 24
Correct table

Mean = 145 +§ X 10

=149.8
-~ mean height is 149.8 cm
Modal class is 150 — 160

Mode = 150 + —2%=12)
(2x20-12-8)
=154

~ modal height is 154 cm

x 10

1Y%

Yo

Yo

Yo
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33 (a).

A tent is in the shape of a right circular evlinder up to a height of
3 m and then a right circular cone, with a maximum height of
135 m above the ground. Calculate the cost of painting the inner
side of the tent at the rate of T 2 per square metre, if the radius of

the base is 14 m.

Sol. | Height of conical part=13.5-3=10.5m Yo
Slant height = /(14)2 + (10.5)2 =17.5m 1
SA of tent = CSA of conical part + CSA of cylindrical part )
=(Zx14x17.5)+ (2x Zx 14 x 3)
7 7
=1034 m? Y2
Cost of painting @ X 2 per m? = 1034 x 2 = 2068 1
OR
33 (b). A solid wooden toy is in the shape of a right circular cone mounted
on a hemisphere of same radius. If the radius of the hemisphere is
4-2 em and the total height of the toy is 10-2 em, find the volume of
the wooden toy. Also, find the total surface area of the toy.
Sol. | Height of conical part =10.2-4.2 =6 cm Ya
Volume of toy = Volume of conical part + Volume of hemispherical part
= (1«2 2 222 3 1
=(3xZx(42? x6) + (3x Zx (4.2)*)
=266.112 1
Hence, Volume of toy is 266.112 cm®
Slant height of conical part = /(4.2)%? + (6)? = 7.32 cm 1
TSA of the toy = CSA of hemispherical part + CSA of conical part
_ 22 2 22
= (2xZx (42)?) + (2 x 42 x7.32) 1
=207.504 Yo

Hence, TSA of toy is 207.504 cm?

MS_X_ Mathematics_041_ 30/C/2_2022-23
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34.

From the top of a 60 m high building, the angles of depression of the top
and bottom of a cable tower are observed to be 45° and 60° respectively.

Find the height of the tower. (Use J3 =173)

Sol.

Correct figure

T A i o e
60"
(60 - h)
60 D
h h
- B = C
Let height of the tower be ‘h’ m and ED =BC = ‘x"m
In A AED
%_h =tan45°=1
=60-h=x - D
In A ABC
6X—0 = tan 60° = /3
= 60 =3 x

= 60 =3 (60 — h)
60 (v3-1) % V3
V3 V3
= h=20(3-3)
= h=20(3-1.73)
= h=254
Hence, height of the tower is 25.4 m.

= h=

Yo

Ya

Yo
Yo
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35 (a).

Prove that :

1+s%118_1—5}119:4135111956209
1—sin® 1+sin®

Sol. LHS = (1+sin 8)?—(1—sin )2
(1+sin 8) (1—sin 6)
_ 4sinf
1-sin20
_4sinf
cos?%0
=4 tan 6 sec 8 = RHS
OR
35 (b). Evaluate :
tan? 60° + 4 sin? 45° + 3 sec? 60° + 5 cos2 90°
cosec 30° + sec 60° — cot? 30°
Sol.

2 132 2 2
(V3)?+4(75) +3(2)%+5(0)
24+2—(+/3)2
34241240

T 4-3
=17

SECTION E
This section comprises of 3 case-study based questions of 4 marks each.
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36.

February 14 is celebrated as International Book Giving Day and many
countries in the world celebrate this day. Some people in India also
started celebrating this day and donated the following number of books of

various subjects to a public library :
History = 96, Science = 240, Mathematics = 336.

These books have to be arranged in minimum number of stacks such that
each stack contains books of only one subject and the number of books on

each stack is the same.

Based on the above information, answer the following questions :

(i) How many books are arranged in each stack ?
(ii)  How many stacks are used to arrange all the Mathematics books ?
(iii)  (a) Determine the total number of stacks that will be used for

arranging all the books.
OR

(iii)  (b) If the thickness of each book of History, Science and
Mathematics is 1-8 ecm, 22 em and 2-5 cm respectively, then
find the height of each stack of History, Science and

Mathematics books.

Sol.

(i)  HCF (96, 240, 336) = 48

(i) Number of stacks = 3%86 =7

(iii)  (a) Total number of stacks = % 4220, 336

48 48
=14
OR
(b) Height of each stack of History =48 x 1.8 =86.4 cm
Height of each stack of Science =48 x 2.2 =105.6 cm
Height of each stack of Mathematics =48 x 2.5 =120 cm

1

1 mark
for1
correct
answer,
1% mark
for two
correct
answer
and 2
marks for
all correct
answers.
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37.

While playing in a garden, Samaira saw a honeycomb and asked her

mother what is that. Her mother replied that it’s a honeycomb made by

honey bees
honeycomb

to store honey. Also, she told her that the shape of the
formed is a mathematical structure. The mathematical

representation of the honeycomb is shown in the graph.

l--’i,()l

10\

of 5/ 10]

~f0

Based on the above information, answer the following questions :

(1) How many zeroes are there for the polynomial represented by the

graph given ?
(ii)  Write the zeroes of the polynomial.
(1) (a) Ifthezeroesofapol;mnmialx2+(a+1)x+bar92and—3,

then determine the values of a and b.

OR
(1) (b) If the square of difference of the zeroes of the polynomial
x2 + px +45 is 144, then find the value of p.

Sol. Q) Two 1
(i) 7and-7 1
(i)  (a) ~(@a+1)=2+(-3)=a=0 1

b=2%x(-3)=b=-6 1

OR

(b) Let @ and B be the zeroes of given polynomial

Here,a + B =—pand a B =45 Yo
(a — B)? =144 Y2

= (a+ B)? — 4ap = 144
= (—p)’ -4 x45=144 zz
2

= p=+118
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38.

In a park, four poles are standing at positions A, B, C and D around the
circular fountain such that the cloth joining the poles AB, BC, CD and
DA touches the circular fountain at P, Q, R and S respectively as shown
in the figure.

Based on the above information, answer the following questions :

(1) If O is the centre of the circular fountain, then £ OSA = ...

(i1) If AB = AD, then write the name of the figure ABCD.

(iii) (a) IfDR=7cmand AD =11 cm, then find the length of AP.

OR

(iii)) (b)  If O is the centre of the circular fountain with £ QCR = 60°,
then find the measure of £ QOR.

Sol.

Q) 90°
(i) AB + DC =BC + DA
Given, AB = AD
= BC=DC
So, ABCD is a Kite
(i) (@ DS=DR=7cm
AD=11cm
7+SA=11
= SA=4cm
~AP=SA=4cm
OR
(b) QOR =180° - 60°
= 120°

Yo
Yo
Yo

Yo
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